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	Score Range
	Performance Level
	Tick

	80-100
	Exceeding Expectation
	

	60-79
	Meeting Expectations
	

	40-59
	Approaching Expectations
	

	Below 40
	Below Expectations
	


Instructions to Learners.

                 Answer all the Questions.

1. Joy children's home received eight million eighty thousand and eight hundred shillings as a donation from an NGO. Pele children's home received two million five hundred thousand shilling less than Joy children's home. Write the total amount of money received by the two children's home in words. (2 mks)
2. How many groups of hundreds are in the value of digit 2 in the number 428698? (2 mks)

3. The price of a car is sh.3,455,840. What is the price of the car rounded off to the nearest ten thousand? (2 mks)
4. Grade seven learners were asked by their teacher to add the first 20 odd numbers. What answer did they get?(2 mks)

5. A construction company has 435 workers. Each worker earns a monthly salary orsh. 42,500. How much money does the company spend on salaries every month? (2 mks)

6. A farmer collected 375 eggs from his hens. The eggs were transported in trays each holding 30 eggs. How many trays were needed to transport all the eggs?
7. What is the least number that should be added to 623 to make it divisible by 11?
8. The capacity of three containers is 30 liters, 45 liters and 60 liters. Determine the capacity of the greatest container which can be used to fill each one of the container in exact number of times? (2 marks)
9. Simplify ³⁵/₆₃ to its lowest form (2 marks)
10. The amount of meat bought by three customer were Martha ³/₄ kg, Magdalene ¹/₂ kg and Timothy ²/₃ kg. Arrange the masses in descending order. (2 marks)
11. Subtract 18.69 from 24.5. (2 mks)
12. Evaluate: 8 ⁴/₉ × 7¹/₆ (2 marks)
13. How many ¹/₄kg packets can be packed from 20 ¹/₂kg of sugar. (2 marks)
14. Grade seven learners were asked by their teacher to identify the value of each digit in the number 28.963. By how much is the value of digit 2 greater than the value of digit 6? ( 2 marks)

15. Work out the square of: √25 + 6²

16. Evan went round the figure below four times. What distance did he cover? (2 marks)
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17. Round off 23.6294 to the nearest hundredth? (2 marks)
18. A meeting was attended by 36 women and 24 men. What is the percentage of women in the meeting? (2 marks)
19. Grade seven learners worked out the following circumference of the circle below. What did they get? ( use π = ²²/₇)
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20. How much water can the container below hold in litres? ( 2 marks)
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21. Mr. Kimeru imported 8T 500kg of cement. He sold 4T 850kg. How much cement did he remain with? (2 marks)
22. The train arrived in Mombasa at 1640hrs. What time in 12 hour clock system was this? (2 marks)
23. Study the bus travel below of Kinatwa bus travelling from Town A to town E.

	
	ARRIVAL
	DEPARTURE 

	A
	8:15am
	8:30am

	B
	9:35am
	10:00am

	C
	10:45am
	11:00am

	D
	11:50am
	12:10pm

	E
	2:15pm
	

	
	
	


a. How long did it stop over at station D? (2 marks)

b. In which station did it stop over the longest time? (2 marks)

c. How long did the bus take to travel form town B to town D? (2 marks)

Answers

1. Thirteen million, Six hundred and sixty one thousand, six hundred.

2. 200

3. 3,460,000

4. 400

5. sh. 18,487,500

6. 13 Trays

7. 4

8. 15 litres

9. ⁵/₉
10. ³/₄, ²/₃, ¹/₂
11. 5.81

12. 60 ¹⁴/₂₇
13. 82 packets

14. 19.96

15. 1681

16. 1120m

17. 23.63

18. 60%

19. 264

20. 160 litres

21. 3t 650kg

22. 4.40pm

23. a. 20mins

b. Station B-25 mins
c. 1hr 50mins
